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No BT R HE HElniELE trL-134 t 9 L-137 EEE

Ba. kg Bg. kg Ba ke
1 wmem R6.5.24 Faol) (Ek BREE9(<43) BRHEE9(<3.5) BRHEEY
2 2emh R6.5.24 g)—rBE—X BREE3(<47) BREE9(<4.6) - Janpcac N
3 wmET R6.5.28 AFYTIURY BRHET(<3.0) BRHET(<3.3) - Janpcc
4 At R6.5.28 HYIURD BREE9(<48) BREE9(<2.8) - Janpcc N
5 ABIH R6.5.28 Joyal— BREE9(<7.0) BREE9(<4.0) - Janpcac N
6 EZAM R6.5.22 g)—2EF—X BREE9(<54) BRHEE9(<5.0) L Janpcac N
7 E%AmH R6.5.24 Y AU5 Y (EER) BHE9(<6.8) BRHET(<4.6) BREEY
8 EZAmH R6.5.24 Joyal)— (k) BRHET(<6.4) BRHET(<L5.2) BRHEY
9 HEHEET R6.5.27 FoTYA BRHET(<4.3) BRHET(<L35) BRHEY
10 EHEET R6.5.27 NI A BRHE9(<6.4) BRHE9(<4.9) BREEY
11 FEmH R6.5.28 H1)— E—2X BHEY(<L53) BRHEEY(<46) BHEY
12 JI{RET R6.5.28 H1)—oE—X BHEEI(<8.1) BRHE9(<6.0) BREEY
13 REH R6.5.28 Jayal)— (%) BRHEI(<4.6) BRHEI(<45) BREEY
14 T 4ERET R6.5.28 F R (%) BRHE97(<6.6) BRHE9(<3.8) BHEY
15 [EESE L) R6.5.27 oLy BRHEE9(<6.4) BRHE9(<L55) BHEY
16 L EH R6.5.28 YA 5 Y () BRHEET(<47) BRHE9(<3.8) BREEY




BRERER

No 5 RExH AMDELE o L-134 2 L-137 BEE
Ba ke Ba ke Ba kg

17 FE =R AT R6.5.27 Fa) (%) BRHEET(<44) BHE9(<3.5) BREEY
18 LicEd= i) R6.5.24 YYIURY BREET(<3) BRHEE7(<4.0) BREEY
19 AEHRHET R6.5.28 A4F3 BHE9(<3.6) BREE7(<29) ‘rEed
20 FEHERE R6.5.28 FaoY) (hEER) BRHEE7(<43) BRHEE7(<2.9) BREEY
21 L) R6.5.26 FEE S BRHEE7(<3.6) BRHEET(<3) BrEEd
22 R R ET R6.5.27 Fa) (FeER) BRHEY(<48) BRHEY(<38) BREEY
23 RESHT R6.5.27 an e 7 Ly BRHEY(<45) BRHE9(<5.3) BREEY
24 AJIET R6.5.27 NLA2a(iEE) BRHE9(<4.0) BRHEEY(<2.7) BREEY
25 AJIET R6.5.27 BAIRE BRHEY(<45) BRHEY(<38) BREEY
26 [ EFHT R6.5.27 NLM23 BRHEET(<47) BRHE9(<3.6) BREEY
27 i) R6.5.27 LB BREET(<41) BRHEE7(<3.6) BrEEd
28 i) R6.5.27 Fa BRHEET(<3D) BRHEET(<3) BrEEd
29 [ EFHT R6.5.27 Zv¥ay BRHE9(<36) BRHEEY(<3 BREEY
30 HZERT R6.5.27 SR (EER) BRHE9(<43) BRHE9(<3.3) BREEY
31 HZERT R6.5.27 b2k (7EE%) BRHEE9(<22) BRHE9(<28) BREEY
32 HZERT R6.5.27 ==y BRHE9(<3.2) BRHEE9(<3.2) BREEY
33 = [ BT R6.5.27 Vi) BHE9(<5.9) BHE(<4.6) BRHET
34 = [EET R6.5.27 Favl) (FEEk BRHE9(<4.9) BRHE9(<38) BREEY
35 = [EET R6.5.27 AFYTIURY (5% BRHEE7(<5.2) BRHE9(<3.9) BREEY
36 JRSTET R6.5.27 =AY BHET(<4.2) BRHE9(<3.8) BREEY
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No b1 FEH APlniESE ti.L-134 t 9 L-137 EEE
Ba. kg Ba. kg Bqg. kg
37 SRITHT R6.5.27 avxy BRHET(<L7.6) 7.44 74
38 SEITHT R6.5.27 AyF—= BRHET(<3.7) BRHEY(<3.8) - g
39 SRITHT R6.5.27 -—>= BHEEY(<L3.1) BRHEEI(<24) BHET
40 AREEFT R6.5.27 YA (HEER) BRHET(<4.9) BRHET(<3.8) g
41 SEITHT R6.5.27 oA BRHE9(<3.0) BRHET(<28) - g
42 SEITHT R6.5.27 A BRHEE9(<6.0) BREE9(<4.3) BEed
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